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NCU Inc. conducts an annval audit of its financial records. - An internal control
policy for the company is that a check be issued only after the accounts payable
manager initials the invoice. The tolerable exceptlon rate for this internal
control is 0.04.. Suppose that durmg the audit, a sample of 300 invoices is
examined and 11 invoices are found to violate the internal control.
(a) (5%) Calculate the upper bound for a 95% one-sided confidence interval
estimate for the rate of noncompliance. :
(b) (10%) Based on (a), what should the auditor conclude?
(15%) How does testing the significance of the entire regression model differ
from testihg the contribution of each independent variable in the multiple
regression model?
An annual time series with 17 consecutive values is obtained. A third-order
autoregressive model is fitted to the data and has the following estimated
parameters and standard deviations:
=4.5 a,=1.80 a,=0.80 a,=0.24

S, =050 : L8, =030 5,=0.10

(a) (5%) At the 0.05 level of significance, test the appropnateness of the fitted
model.

{b) (5%) The three most recent observations are:
Y15=23 Y16=28 - Y17=34
Forecast the series for the next’ year and following year

‘(c) (10%) Write an equatlon to indicate how you would forecast j years into the

future,




